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CHM 151 Quiz 6b 25 Pts Fall 2007 Name: X&z .

R = 62.4 L-torr/mol-K R =0.0821 L -atm/mol-K
PV = nRT P1V1T2 = P2V2Tl

2 sample of a gas occupies a volume of 350 mL at 3.95 atm and 25°C. Calculate the
number of moles of gas present.

PU=n RT CE 95 M}(O 350»@) o | \
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nN= RT = 0.0&57 mol™
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2 giver mass of xenon gas has a volume of 200 mL at 25.0°C and 760 torr. To what
cemperzture must the xenon be heated to occupy 450 mL at 760 torr?
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What 1s the volume occupied by 3.50 grams of C12 gas at_45°C and 745 torr?

PU=nNRT n= 3.50gf) mol o 6 pyg20me o
r\R [ 70.14
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. A sample of carbon monoxide, CO, occupies a velume of 350 mL and exerts a pressure
of 1020 torr at 25°C. If the volume expands to 500 mL with no temperature change,
what pressure will the gas exert?

PV, ~ RV,

A sample of oxygen occupies 47.2 liters under a pressure of 1240 torr at 25°C. What
volume would it occupy._at 25°C if the pressure were decreased to 730 torr?

PV, ip= PV e
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